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‘This Question: 1 pt This Test: 7 pts : 00f7 complate

An clection poll reported that a candidate had an approval rating of 45% with a margin of error
E of 4%. Construct a confidence interval for the proportion of adlts who approve of the
candidate

‘The confidence interval for the proportion of adults who approve of the candidate is (][ ))
(Round to two decimal places as needed )
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You are given the sample mean and the sample standard deviation. Use this information to
construct the 90% and 95% confidence intervals for the population mean. Which interval is
wider? If convenient, use technology to consiruct the confidence inervals.

A random sample of 48 eight-ounce servings of different juice drinks has a mean of 97.3
calories and a standard deviation of 47.6 calories.

‘The 90% confidence intervalis ([ ][ _)). (Round to one decimal place as needed )
‘The 95% confidence intervalis (][ ]). (Round to one decimal place as needed )
‘Which interval is wider?

O The 90% confidence interval

O The 95% confidence interval
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‘The state test scores for 12 randomly selected high school 142
Senors are shown on the right. 696

Assume the population is normally distributed. 75
627

(2) Find the sample mean.

[[] Round to one decimal place as needed)

(b) Find the sample standard deviation.

[[] Round to one decimal place as needed)

(©) Construct a 99% confidence interval for the population mean .

A 99% confidence interval for the population mean is (_][])
(Round to one decimal place as needed )



[image: image4.png]«<0000000 >

‘This Question: 1 pt ThisTest: 7pts  Time Limit: 02:00:00 00f7 complate | [7

A researcher wishes to estimate, with 95% confidence, the proportion of aduits who have
high-speed Internet access. Her estimate must be accurate within 3% of the true proportion.
2) Find the minimum sample size needed, using a prior study that found that 56% of the
respondents said they have high-speed Internet access.

b) No preliminary estimate is available. Find the minimum sample size needed.

) What s the minimum sample size needed using  prior study that found that 56% of the
respondents said they have high-speed Internet access?

=[] (Round up to the nearest whole mumber s needed)
b) Whatis the minimum sample size needed assuming that no prefiminary estimate i available?

=] (Round up to the nearest whole mumber s needed)
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People were polled on how many books they read the previous year. How many subjects are
needed to estimate the number of books read the previous year within one book with 90%
confidence? Inital survey results indicate that o= 18.6 books.

A90% confidence level requires | ] subjects.
(Round up to the nearest whole number as needed.)
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Use the confidence interval to find the estimated margin of error. Then find the sample mean.

A biologist reports a confidence interval of (1.9,3.3) when estimating the mean height (i
centimeters) of 2 sample of seedlings.

The estimated margin of erroris ]

‘The sample meanis [ ]
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‘You randomly select and measire the contents of 10 4216 4297 4258 4244 4185 ©

bortes o congh syp. The rests i il onces) e 34 253 4245 4205 4257
wn.

Assume the sample s taken from a normally distributed population. Construct 95% confidence

intervals for (a) the population variance 2 and (b) the population standard deviation o.

(2) The confidence interval for the population variance is (][ ))
(Round to six decimal places as needed.)

(b) The confidence interval for the population standard deviation is (][ )
(Round to four decimal places as needed.)




